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PUBLIC ADMINISTRATION
Paper - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.
All questions are compulsory.

1.  “Administration is the most obvious 5. Match List — I with List — II. Select
part of Government.” Who of the the correct answer from the codes
following made this statement ? ven below -

(A) Kautilya g W

(B) Woodrow Wilson List-I List-1I
(C) L.D. White

(D) Frank J. Goodnow (Books) (Authors)

2. The pol}tlcs . .admlr‘us‘trat}on (a) Administration: (i) Frank
dichotomy is a misleading distinction o
which has become a fetish, a The Art and Marini
stereotype in the minds of theorists Science of
and practitioners alike.” Who said Organisation
this ? and
(A) Herbert Simon M )

(B) Paul H. Appleby anagemen
(€)  Carl J. Friedrich (b) Toward a New (i) Jan-Erick-
(D) Dwight Waldo .

i L Public Lane

3.  Which of the following is not the Administration -
correct source of New Public ministration :
Management ? Mil’ll’lOW bI‘OOk
(A) New Public Administration Perspective
(B) Public Choice Theory .

(C) Managerialism (c) Making (iii) Albert
(D) Chicago School of Economics Democracy Lepawaski
4. Assertion (A): New Public Work
Administration openly rejected
the value neutrality. (d) Public (iv) Robert D.
Reason (R) : Value neutrality in Administration Putnam
Public . AQministratioq i.s an and Public
impossibility and the discipline M
should explicitly espouse the anagement
cause of the disadvantaged Codes :
sections of the Society. odes :
Codes : @ O © @
(A) Both (A) and (R) are correct
and (R) 1is the correct (A (1) @) @i @Gv)
explanation of (A). . . -
(B) Both (A) and (R) are correct, B) @Gi) @ Gv) (1)
but (R) is not the correct L )
explanation of (A). © Gy @Gv) @) @)
(C©) (A)istrue but (R) is false. ) .. )
(D) (A)is false but (R) s true. (D) v) ) @ G

Paper-II1 2 J-14-12
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(D) H . TS (TH) ()
2 “”ﬁ“i”%"“";:‘f T waf"*% TR T
N e s N (a) T (1)
T BT Y U S b e O e T e
wieas gROT & T € I 9 foRge S ST
g2 .
(A) & T e BT
(B) UT U, TUeHT
(C) oo <. TR (b) TAS T UfseA® (i) SH-URF-oH
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(B) <k = Mg .
(C) v (c) URHT  SHERET (iil) TelEe
(D) T WheT 3 ST . S
4., FWFAT(A) : S TR 7 oA AR
;T’f'qiaw SR T fe (d) et (iv) TS,
l .
T (R) A% R F e TR U ERiC]
Tl Teh EHEAT & 3T famg Thers ST
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SO %2“?;;?;?2;3: ® @ G 6 G
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Match List — I with List — II. Select
the correct answer from the codes
given below :

List-I List-1I
(Type of (Characteristics)
Organisation)
(a) Project (1) Existence of
Organisation horizontal
and diagonal
relationship
(b) Matrix (i1) Facilitates
Organisation co-operation

team  work
and customer
orientation
(c) Horizontal (iii) Independent
Organisation unit  having
link with a
web of other
units
(d) Network (iv) Project
Organisation organisation

plus a

functional
organisation

(v) Flexible to

facilitate
management
change

Codes :

@ (b)) () (@

(A) () @) (v) (i)

B) @ (v) > (i)

© (v Gy @@ (i)

D) @) av) (v) (i)

Which of the following is the basis

of influence in an informal

organisation ?

(A) Organisational position

(B) Person

(C) Authority

(D) Closeness with higher people

“Hierarchy is the linchpin that locks
the form.” Who said it ?

(A) Henry Fayol

(B) Urwick and Gullick

(C) Mooney and Reiley

(D) Earl Latham

Paper-I11

10.

11.

12.

Which one of the following is not a
method of co-ordination ?

(A) Planning

(B) Standardization of procedures
(C) Centralized house-keeping

(D) Inspection

“Bureaucracy is an organization that
maximises efficiency in
administration or an institutional
method of organized social conduct
in the interest of administrative
efficiency.” — Who has made this
statement ?

(A) Peter M. Blau

(B) Max Weber

(C) Thomson

(D) Alvin Gouldner

Which of the following are the

characteristics of communication

network, called grapevine in an

organisation ? Select the correct

answer by using the codes given

below :

i It is not
management.

(i) It 1is perceived by most
employees as being more
believable and reliable.

(iii) It is largely used to serve the
organisational interest.

(iv) It is an important source of
information.

Codes :

(A) (1) & (i)

B) (@, (i) & (i)

©) (i) & (iv)

D) @, (i) & (iv)

controlled by

The book ‘From Max Weber
Essays in Sociology’ was edited by —
(A) H.H. Hearth

(B) C.W. Mills

(C) Talcott Parsons and H.H.
Hearth
(D) H.H. Hearth and C.W. Mills
J-14-12
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T 3T A 5T T Fei S e 4
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(TS T TbT) (Fersteam)

(a) TEETERT (1) Qs IR @
T B

(i) FEHA Y
TeamT, I
AT Ug
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T |

(i) T HE
e o=
ESERIED)
EER B
T &

(iv) IRESAT ST
T Uh
otk G |

(v) TaY URee %
T 7= |

(b) Wiz WeT

(c) &fast Fre

(d) =T T

ETE

@ ® © @@
(A (@G @G @Gv) (b))
B) G @) (3{ii)
© (v) @G @) (@i
(D) @) (@v) (v) (D)

7. UH SFUERE T H IE H SR

AT P E 2
(A) T ugREfd
(B) =
(C) W
(D) 3=I AT % T e |

8. T WM U UW Wewyw fN § S
fafvre T A AT I I T 1 e e
FET & ?

(A) T A
(B) g wd et
(C) T
(D) 3T I
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10.

11.

12.

frfoiiEd § 9 S—dl §5aT Tgid Tel
g2

(A) I

(B)  WTHAT HIEHIEHIOT

(C) i e e

(D) TRieror

“SIHRY T Teh U TS & ST IRIE
T AT B AT S@d § 3T I8
TS T % ®d U UH qued
HHISTeh 3R0T o G faf & 17 I8
T o & 2

(A) TR TH =8

(B) o AR

(C) omE

(D) UeAfsH Tes

frefoiaa § 9 QU0 “eash i e

F-Tr € = e | Uvare Fel S

T 2 e 3T el A TerEar T T STW B

T I

() ©F W vy g7 FEEo @ @@
SATE |

(i) oIyeeT HEAT 3R W fovagAE
T fovad qHe ST € |

(iii) ST TR U WiTe % fed o forw
ST |

(iv) & GET 1 Teqol A € |

ETE

(A) (1) & (i)

B) (), (i) & (iii)

(©) (i) & (iv)

(D) (@), (1) & (iv)

‘WWW:W?W’W
T TR o T 2

(A) TETE

(B) We=y fow

(C) <oopic TG~ Ud U9.Ud, &

(D) wETE. ¥ U 4. =g, fed
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13.

14.

15.

16.

Which among the following are

major functions of line agency ?

(i) Making decisions

(i1)) To ensure that Chief Executive
is adequately informed

(ii1)) Maintaining production

(iv) Taking responsibility

Select the correct answer from the

codes given below :

A) @), @), @) B) (@), ), (iv)

©) (), (i), av) (D) (), (i), (Qv)

According to Kautilya’s
‘Arthasastra’ a King should avoid —
(i) Lust (i) Greed

(ii1)) Confrontation (iv) Vanity
Select the correct answer from the
codes given below.

Codes :

(A) (@), (1) (B) (i1), (i)
©) @, @G, av) D) @), >iD), (1v)
“Charismatic  authority can be
routinized so that it continues to
exist even after the departure of
charismatic leader.” Who said it ?
(A) Herbert Simon

(B) Chester Bernard

(C) Max Weber

(D) Peter Blau

Match List — I with List — II. Select
the correct answer from the codes
given below :

List-I List-1I
(Thinkers) (Ideas)
(a) Herbert (i) Incrementalism
Simon
(b) Charles (i1) Black Box
Lindbolm Model
(c) David (ii1) Art of
Easton Judgement
(d) Geoffrey (iv) Bounded
Vickers Rationality
(v) Modified
Rationalism
Codes :
(@ (M (© @
(A) (v) @) @) (i)
B) @ @) () ({v)
© G @ @) (v)

D (v a) (@) (i)

Paper-I11

17.

18.

19.

20.

Who among the following has
coined the term ‘Representative
Bureaucracy’ ?

(A) Robert Merton

(B) Donald J. Kingsley

(C) F.M. Marx

(D) Herman Finer

Which one of the following is not
M.P. Follett’s Criticism of Classical

Theory ?
(A) It treats organisation a closed
system.

(B) It suffers from one-sidedness.

(C) It is mechanical in approach

(D) It ignores  psychological
aspects.

Match List — I with List — II. Select
the correct answer from the codes
given below :

List-1 List-11
(Concepts) (Thinkers)
(a) Linking (i) Rensis Likert
Pin Model
(b) Decision  (ii) Duncan
Tree
(c) Garbage (ii1) Alderfer
Cane
Model
(d) ERG (iv) Cohen, March
Theory and Olson
Codes :
@ (b)) (© (@
A (@ @) G (Gv)
B) @G @G) @Gv) @)
© @ @) (@v) (i)
D) @ ) (@) (@v)
Who called the Scientific
Management as  ‘Physiological
Organisation Theory’ ?
(A) Robert Hoxic
(B) Oliver Sheldon
(C) Peter Drucker
(D) Simon and March
J-14-12
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Sk
(i) 3T IA1E TG
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T

@A) O, G, @) B ), i), (v)
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(i) e (i) =Y
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B
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©) (@), (), Gv) D) @), (i), (v)
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(B) TR TS

(C) T IR
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(b) AT (il) <A ST TTTHH
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(d) ER faeRE (iv) Wit aifgessar
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FT:

@ (b)) (© (@

A) (Gv) (@) @) (i)

B) @O ai) (v) @)

© G @ 3> ()

D) (v) ) @ (i)
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17.

18.

19.

20.

fm & ¥ ofaffy Seem
(Representative Bureaucracy) ¥1&% @l
T o o 2

(A) e HA

(B) SFS I, e
(C) UHTH. "
(D) BT W

frafefed & ¥ =9 9 . wicle

I g Sl AT 8 € 2

(A) TE TS P UH a5 T qHdT
T

(B) ¥ THTRIAA ¥ A E |

(C) TTH eshivr § I1i=eh &Il & |

(D) & TAORIS Tecjell i SUeT

FATE |
Tl — I & G — 11 & 9 goferd e
3R A ST T el it T | Wl I
T TG HIT
-1 T=-11
(Sehea) (fererme)
(a) TotspT o () FEH e
HiseT
ORELESE] (i) =T
(c) TIEST B (iii) Te=TH
HiseT

(d T AR ST (iv) HRT AR IS
R G
ETE
(@ (b @© (@@
(A) @) @) @) (@Gv)
B) @@ @) Gv) @
© @ @Gy @Gv) (i)
(D) @) @Gy @) @Gv)
T FRT 2
(A) e giferTe
(B) ifeter Siee
(C) g
(D) WrEwA TS A
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21.

22,

23.

According to Elton Mayo, a

worker’s performance is primarily

related to

(A) The  worker’s
variable

(B) Technological tools

(C) Interaction setting in an
organization

(D) Socially acquired attitude of
the worker in and outside of
the factory.

personality

Which of the following statements
is/are linked to F.W. Taylor ?

(i) Trade Unionism is
unacceptable.

(i) Scientific = Management is
mechanical.

(i11)) Worker is a technical man.

(iv) Piece-rate wage plan is an
unhealthy practice.

Select the correct answer from the

codes given below :

Codes :

A) @ (B) (1)

©) (@, (i) (D) (), (iv)

Assertion (A) : Comparative Public
Administration is productive
and active in nature.

Reason (R) : The idea of decline
of Comparative Public
Administration is premature,
although Comparative Public
Administration  does  not
appear to have reached a
critical point of development.

Codes :

(A) Both (A) and (R) are correct
and (R) 1is the correct
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C©) (A)istrue but (R) is false.

(D) (A)is false but (R) is true.

Paper-I11

24.

25.

26.

27.

28.

According to Ferrel Heady, which of
the following is not a feature of the
administrative  systems of the
developing countries ?

(A) Colonial legacy

(B) Lack of technical competence
(C) Formalism

(D) Operational autonomy

Which one of the following is not a
characteristic of ‘Sala Model’ ?

(A) Institutional corruption
(B) Nepotism
(C) Formalism

(D) Actual behaviour is similar to
formal expectations.

Which one is the last Independent
Regulatory Commission in USA ?

(A) Federal Communication
Commission

(B) Civil Aeronautic Board
(C) US Maritime Commission
(D) Federal Power Commission

The Masterman Committee of

Britain dealt with

(A) Political activities of civil
servants

(B) Functioning of Whitley
Council

(C) Re-organisation of
administration

(D) None of the above

Which of the following countries has
promulgated a new administrative
regime in the form of the Enterprise
Act, 2002 ?

(A) USA
(B) UK
(C) France
(D) India
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21.

22,

23.

Teed T & AR U HHAR A

T g foha e g & 2

(A) FEIR! N UREHE AR

(B) WRNTTHR ST

(C) USHTA | 3 Toha fo=ama

(D) WREW T T4 STY S HEARI
SR ATISTeh ®Y § T 3tfvyert

fefetad 8 9 ®F ¥ 1fyFee T 509

T Y gt € 2

() =i Guas SRy € |

(i) SR T A=H BT T |

(i) HEERI qeih AR BT ¢ |

(iv) WERYE wEE AN T g
TEAE |

9 ST T e eI ¥ 9E S H

T I

BT :

A) @ (B) (i)

(©) (@, (1) (D) (i), (iv)

ATUHUT (A) : ToHIHS oAb TR
S TP SR SR hamiiet & |

& (R) : qOFITR I TR
% WG i foaR Fe 1 €, Fe
GRIE G | Col N R e
AAE |

(A) (A) 3R (R) 3T Tel & 31T (A)
T (R) el T T |

(B) (A) 3R (R) 3T WEl € 31X (A)
T (R) el THIT T8 & |

(C) (A) TEE W R) T e |

(D) (A) T &, W] (R) Wl ¢ |

J-14-12

24.

25.

26.

27.

28.

e 9 % IR W 9 eH @
Taeprastict <o bl NI e
[

(A) iAo

(B) ThIeh! &THAT I TS

(C) TR

(D) HEHE EETdT

frafefaa & 9 &9 9@ qren d e @

T =2 € 2

(A) TN HEER

(B)  R-wSTaTR

(C) HaRepars

(D) ek HEeR, ST STuRTet
% ST BT € |

M A AW Tied WA Fameda
AT B HE ?

(A) THT FER RN

(B) MR oA oS

(C) e QR 3T

(D) el fomge ST

TS ol HReH AT et o
(A) T HeThl i TSI Tararar
(B) Te&eet et ST HIEeOT

(C) U=ITE T T

(D) SRIF H ¥ HIE Tl

ffarad ¥ ¥ 59 <9 § TUSTIES U9,
2002 & T H &M IRIEHS HOTCA B
Sga fepam AT ¥ 2
(A) JuHE
(B) 3%
© w™
(D) ¥Rd
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29.

30.

31.

Kofi Annan emphasized on some
aspects of sustainable development
in 2002 Earth Summit acronymed as
WEHAB. This acronym includes —
(Select the correct answer by using
the codes given below :

(i) Water

(i1)) Water and Sanitation

(iii)) Energy

(iv) Employment

(v) Health

(vi) Housing

(vii) Agriculture

(viii) Biodiversity and Ecosystem
Management

(ix) Biotechnology

(x)  Agro-industry

Codes :

(A) (), (ii1), (v), (x) and (viii)
B) (1), (1v), (vi), (vii) and (ix)
(© (@), 1), (v), (x) and (ix)
(D) (i), (1), (v), (vii) and (viii)

The phenomenon of development
administration in India, traced to the
inception of the Community
Development in October 1952, was
started on the recommendations of

(A) Kirishnamachari Committee

(B) Project Appraisal Committee

(C) Administrative Reforms
Commission

(D) Mahalanobis Model

Decision making process under
Development ~ Administration  is
supposed to be —

(i) Flexible

(i1)) Centralized

(ii1) Innovative

(iv) Rigid

Select the correct code :

Codes :

(A) (@, (i)
(©) (i), (i)

(B) (), (i)
D) (), (v)

Paper-I11
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32.

33.

The United Nations Development
Programme (UNDP) has prioritized
the most significant area under
e-governance, which is

(A) Office Automation

(B) Service Delivery

(C) Development Needs

(D) Management Information
System

Match List — I with List — II. Select
the correct answer from the codes
given below :

List-1 List-1I
(Traditional (Features)
Administration)
(a) Regulatory (1) Strict and
Administration authoritative
climate of
mistrust
(b) Orientated (i1) Routine
towards operations
efficiency
and economy
(c) Task (i11) Concern for
orientation security and
playing safe
(d) Sharp and (iv) Emphasis on
elaborate individual
hierarchical performance
structure
(v) Resistance to
organization
change
Codes :

(@ (®) (© (@

@A @ @ )
B) () @Gv) (i) @
© O @ G @Gv)
D) () () @>v) (i)
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29.

30.

31.

IRl S A geat FPRaR Te 2002 §
T [T % FB el w STavdehl
W T fear | T 9g@ (WEHAB) & A9
YIS E I (R QA
T I H =T )

(iy T

(i) ST 3R TS HaeT

(i) o

(iv) TR

(v) W&y

(vi) e

(vii) PO

(viii) o Taferar ve wiRkes vy

(ix) SRS

(x) Y S

T
(A)
(B)
©)
(D)

@), (iii), (v), (x) 3 (viii)
@A), (iv), (vi), (vii) 3 (ix)
(i), (i), (v), (x) 3R (ix)
(i1), (iii), (v), (vii) 3 (viii)

AR H foeE S % SRS W g

R 1952 H IR™ T T qrR1EH
fgeprg R H <@ ST bl €, ST

Yo 7§ ToRwehl ST W) e

ot 2

(A) FOMEER Gl
(B) URASHT Godieh A

(C) TR JuR 3TINT

(D) IS Higet

for weme 4 Fom o e
TAifeRa | 9 R BT STUfeTd & 2

() e

(i) b

(i) FamERr

(iv) @R

1 9 W el e o 9aT Hi

E T

(A) (@), (i)
© (i), (iii)

(B) (), (ii1)
D) (), (v)
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32.

33.

TIHT gy 9 HEsET ¥ (UNDP)
LI & I G Aol &
I AT I T E | ST —

(A) FREAT TG
(B) Her It

(C) fooa 3mavgerany
(D) W& T HoTedt

Tl — I & G — 11 & 9 goferd e

3R T ST T e A Tera ¥ Wat I
T T HISTT
=-1 =11
(TR 9TE) (frreant)
(a) TRTER DO (1) Savar #
FAT 3T
TTeRRYT
FTATERT
(b) $|2i55°3 old (i1) Afegeh
IR THaegaan
o Uid 39@
(c) TR (iii) e fomr
3R GRieT
FFRR
(d) T AR forga  (iv) =AfRTa
HITFeR T IR WA
(v) WA UREE
EIGACHE)
T
(@ () (© (@
A O 3G (v W
B) @) @Gv) @i @)
© @O G 3di) @{v)
D) (i) (v) @(v) (ii)
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34.

3S.

36.

The Cabinet is the integral core of

the Council of Ministers and it is —

(1) an extra-constitutional body

(i) an extra legal creation

(i11) institutionalised by usage

(iv) comprising most important
ministers

Select the correct answer from the

codes given below :

Codes :

A) (@, (i)

B) @, (i), (iii)

©) (), i), (iv)

D) @, (), (iid), (iv)

Which one of the following is the
basis for Prime Minister’s Office ?

(A) A Resolution of Cabinet

(B) Constitution of India

(C) An Act of Parliament

(D) Government of India
Allocation of Business Rules,
1961.

Consider the following statements

regarding the Cabinet Secretariate in

India and select the correct answer

from the codes given below :

i) It is a successor of the
Secretariate of the Governor
General’s Executive Council.

(i) It performs co-ordinating role
in the process of policy
making at the highest level.

(ii1) The office of the Cabinet
Secretariate came into
existence in 1947.

(iv) The First ARC had

recommended that the Cabinet
Secretary should ordinarily
have a tenure of three years.

Codes :

(A) (D), (i), (i)

B) (@, (i), (iv)

©) (@, (i), (iv)

(D) (@), (1), (ii1), (iv)

Paper-I11
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37.

38.

39.

While assisting the Minister in
formulation  of  policies, the
Secretariate performs which of the
following functions ?

(i) Making and modifying
policies from time to time.

(i) Drafting bills, rules and
regulations.

(iii)) Coordinating and interpreting
policies.

@iv) To direct the States
Government

Select the correct answer from the
codes given below :

Codes :

(A) (@), (1)

B) (@), (i)

©) (@, (1), (iid)

D) (@), (i), (iv)

The Second Administrative Reforms
Commission has identified strengths
and weaknesses in the existing
structure of Government of India in a
report. Identify a weakness cited in
the report.

(A) Stability

(B) Commitment to Constitution

(C) Proliferation of Ministries /
Department

(D) Proliferation of Administrative

Agencies

Which one of the following is not
created by an Act of Parliament ?

(A) National Commission for

Backward Classes

(B) University Grants Commission
(C) Atomic Energy Commission
(D) Railway Board

J-14-12



34.

3S.

36.

e, H_TRwE # U S e §
TN IEE

() U AT g

(i) T IR &

(i) TERT & FRT G

(iv) wewaqe "= ¥ ga

o 7T 2 A T ST N =TI BT ;
&<
(A)
B)
©
(D)

(), (ii)

(i), (ib), (iii)

(ii), (iib), (iv)
(1), (ib), (i), (iv)

=ity o 9 WA RO SR

FME?

(A) e T I

(B) WIRA & e

© WWEBFTT

(D) 9Rd WHER FA e 7w,
1961.

ORA & A=HSd graaed & a8 9 =
3Rl TR fom Y SR e KT T e
 TEl ST H TG R

(i) T TER TRA H FEABN TRIG
Hiaemerd s STRIHH € |

Tg IUaH TR W AT s
TR § e e e
T

e A AT
T 1947 TS |

T R GER 3T (ARC)
H T ST A T HleHe Traa
F FE T TR T a9 &
qew |

(i)

(iii)

(iv)

(A)
(B)
©
D)

(®), (ii), (i)
®, (i), (iv)
(®), (iid), (iv)
(®), (i), (i), (iv)
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37. it o FEIOT H HE S e s 9

38.

39.

[learem F=ied 7§ o9 T F> &
HETEd ST € 2

() TE-IHT W A w o
ENICE]

(i) fogmei, fmi o) fafemi =
RSO

(i) fear = Feaem ) ga=a

(iv) T THR H oH

Fr few T R B e ¥ W I A

T T

&<

(A)

(B)

©
(D)

(®), (i1)
(®), (iii)
(), (i), (iii)
(®), (iid), (v)

f3dia TeTaie U 3T 9RT TR
I SAHH T o Tl 3T HEAR Tel
I R € | ek Wideed § fafeta
AN i AT HT |

(A) fera

(B) Wl % A Aicaga
(C) vt / favmt & fawar
(D) WRTEE STFROT T foear

= o q T gom 9usg sttt &
FRT e feham T 2
(A) TR TUgl ST S
(B) Tavalgenerd 3R ST-mT
(C) 30T STl 3TN
(D) WE e
Paper-I11



40.

41.

42.

Which of the following is not the

recommendation of Hota Committee

pertaining to the issue of disciplinary
procedure for Government Servants
in India ?

(A) Union Public Service
Commission need not be
consulted in case of a civil
servant facing charges of
corrupt practice.

(B) Article 311 of the Constitution
may be deleted.
(C) Where minor disciplinary

proceedings are sufficient to
meet the end of justice, then
major penalty proceedings
should not be initiated.

An inquiry officer should be
relieved from his normal
duties.

D)

The members of the Union Public

Service Commission can be removed

on the ground of misbehaviour by

(A) Impeachment by Parliament

(B) The President after an inquiry
and verdict of the Supreme
Court.

(C) The Chairman of the Union
Public Service Commission.

(D) By the President on the
recommendation of the

Cabinet.

Who was of the view that Indian
Civil Service was the “steel frame”
on which the whole structure of
Government and Administration in
India rest ?

(A) Winston Churchill
(B) Godwin Austin

(C) David Lloyd George
(D) Jawaharlal Nehru

Paper-I11
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43.

44.

45.

Which one of the following is not
correct about the ‘Civil Service Day’
in India ?

(A) TItis celebrated on 21* April
(B) Prime Minister hands over
‘Prime Minister Excellence
Award in Public
Administration’ to the civil
servants on this day.

India has started celebrating
this day since 2006.

Prime Minister’s Office makes
arrangements to organise this
event every year.

©

D)

The National Training Policy in
India

(i) Intends to cultivate democratic
values

Stipulates greater emphasis on
the training of higher and
supervisory level officials.
Strives to bring responsiveness
to the expectation of citizens
Earmarks two percent of total
salary budget for training
which is to be solely used for
this purpose

Select the correct answer from the
codes given below :
Codes :

A) @), 1)

(© (@), (i)

(ii)

(iii)
(iv)

(B) (1), (i)
D) (@), (v)

The training for IAS is conducted in
four stages. Which one of the
following is the correct sequence of
training stages ?

(A) Foundational, Professional,
Field and Institutional

(B) Foundational, Institutional,
Field and Professional

(C) Foundational, Field,
Professional and Institutional

(D) Institutional, Foundational,

Field and Professional
J-14-12



40.

41.

42.

IRAO H R wEERE % ol
SRS Wkl & T ¥ geared
frfafas & 9 &9 @ SFvEr
(Hota) S gRT &l Gae 7 & 2

(A) TR Tofaet 9l T YR & TR
B o Feafq o 99 e e ST
H R T S STEvIE el
T

i o 3% 311 & &
ST |

SR =E % fow gmERe
SRS el T &, ar
T U HEEE TR T W
STHT =T |

STt SR i 3Tk AT it
T o Y ST AT |

(B)

©

D)

T ik Qo 3TN o TS B JHTeR
& YR W = 4 ¥ 5 g0 / 9
BT ST G € 2

(A) T TR 5 |
(B) Vfd & 5N, Gred <R H
St we T S |
Tl A1k Tl ST o 3T G |
S ol STV T AT 51T |

©
D)

TSI T AR SR TR 0 oq07 G
3N ot | 7 Tehrept fera o 2

(A) T et
(B) TielaH e
(C) <fae oiige S
(D) SR T
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43.

44.

45.

IRA § “oAieh Yo a@ IR | = &
BT 2 el el & 2

(A) T 21 3TUA B HAAT SAE |
(B) 39 {7 WU §RT oiieh Wikl <l
eh TG H Iepeal [WEhR e
ST e |

R 7 T 5T 2006  F IE
e |

W uiqey g R ST
Yo WFEA e gRT fR
ST e |

©

D)

IR | AT wigreor ifq

(i) Ak Todt s 0 el ¢ |
(i) SR T THeRil TR & Afehiar
o U0 W SRR 3T ot
AT

IANGRT S IS o i STRERT
B % A Al § |

TR % foTT et I asie & &
i fafeta sl & Naeh e
T WA o e swanT fear s
T |

9w @ e ¥ W I W w
FIT

T

(A) (@), (1)
(©) (i), (111)

(ii1)

(iv)

(B) (), (iii)
D) ®, Gv)

AETTE. (IAS) % fow wfvreror =m =Rof

T Feetd o STar & | FeF o 9 -

TREIOT STES Wl STTHH & 2

(A) ITURYd, SAEEESH, &HF 3%
e

(B) °MHRYA, WM, & 3R
I

(C) °MHRYA, &9, =Iadias 3R
Hrente

(D) Wi, OTERYA, & 3R
=21 CRIED
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46.

47.

48.

Match List — I with List — II and
select the correct answer from the
codes given below :

List-I List-I1
(Kind of Budget) (Basic
Orientation of
Budget)
(a) Line Item (i) Control
Budget
(b) Performance (ii) Decision
Budget Making
(¢c) Planning (iii)) Management
Programme
Budget
(d) Zero-based  (iv) Planning
Budget
Codes :

@ () (© (@

@A) @ @ a6 (@{v)
B) @ @) @Gv) (1)
© @@ @) @v) (i)
D @ GaGv) (1) (i)

Consider the statements regarding

Department related Standing

Committees in India and select the

correct answer from the codes given

below :

(i) The maximum number of
members in these committees
are 31.

(i1) The committees consider the
demands for Grants, Annual
Reports of  Ministries /
Departments.

(ii1) The reports of these
Committees are treated as
‘considered advice’.

(iv) The Committees also suggest
the Cut Motion.

Codes :

(A) (), (1), (1ii)

B) @, (i), (iv)

(©) (), (i), (v)

D) @, (), (1), (iv)

When was the All India Services Act
passed by the Parliament of India ?
(A) 1950 (B) 1951

(C) 1960 (D) 1961

Paper-I11
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49.

50.

S1.

52,

The charged expenditure in the

Budget is characterized as

(i) charged on the Consolidated
Fund of India

(i1) not discussed in the Parliament

(iii)) non-votable by the Parliament

(iv) salary and allowances of

Comptroller and  Auditor

General of India is an example

of charged expenditure.

Select the correct answer by using

the codes given below :

Codes :

(A) (), (i), (iid)

B) (@), (i), (iv)

©) (@), (i), (iv)

D) @, (), (itd), (iv)

Assertion (A): The National
Development Council (NDC)
is not a product of the Planning
Commission’s recommendations.

Reason (R) : The National
Development Council reviews
the working of the National
Plans and also considers
questions of social and
economic policy.

Codes :

(A) Both (A) and (R) are correct
and (R) 1is the correct
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C©) (A)is true but (R) is false.

(D) (A)is false but (R) is true.

Primarily, a researcher should

possess which of the following

qualities ?

(A) Scientific Attitude
(B) Scientific Thinking
(C) Scientific Behaviour
(D) Scientific Feelings

‘Interview is a process of social
interaction.” Who said it ?

(A) P.V.Young

(B) M.N. Basu

(C) Goode and Hatt
(D) V.M. Palmer
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46.

47.

48.

Tt — 1 & gt — 11 ¥ g i |
T T T P H F T SW A T
I -
-1 =11
@ HIBR) (@9 B 7e fawm)
(a) o= (i) FEE
ENIA
(b) TToTRT &1
(c) ST FHHT
BN
(d) ¥ S
ENA
TN

(=N

(i) forg fFmmor
(iii) &9

(iv) Fasm

@ () (©
A) () (i)
B) (@@ (i)
© (@) @G @v) (ii)
D) @@ @Gv) @) (i)
IRT ¥ o | e T gmiaa &
IV T U MU TRl W AR Y 3IR
TERT W P T T OSW W T
T
() T o § ueE @ Sty
T3] B |
iR 3R S TR, FeerE /
four o aves Ruet W feEr
FAE |
RS G S € |
iR el I oA gera
AT
HT:
(A)
B)
©
(D)

(d)
(i) (iv)
(iv) (i)

(ii)

(iii)

(iv)

1), (1), (1i1)

(i), (ii), (iv)

(i), (iii), (iv)

@), (i), (iii), (iv)

IR o TGOS ZRT MEA 9RAF Her
AT o R R T ar 2

(A) 1950 (B) 1951
(C) 1960 (D) 1961
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49.

50.

51.

52.

T | TIRG =59 1 oo TR w9 9

ICRIRICIE

(i) YRa o Ghad MY 9 i

(i) &g ¥ foarfomst @& fFar s

il

30 W 9T § A 7 &8 |

AR & = 3T Jeroiar W

& O AR W TRA FF A

ST E |

T 5T T P B GeRT ¥ Wel SR B

‘rm?ﬁf@rq:

E T

(A) (1), (i), (iii)

B) (), (i), (iv)

©) (), (ii), (iv)

D) (@), (i), (iid), (iv)

A (A) : e foem uREg
ST MM RSN *
TROTHEET =Tl 51 & |

& (R) (i B o s
(NDC) & IiSTT i bl GHieT
HE & T G AT e
Afd ¥ FEtad ue W o fomwr
FATE |

FT :

(A)

(iii)
(iv)

(A) 3R (R) T T&l & 3T (A)
T (R) el T T |

(A) 3T (R) IET T & 3R (A)
T (R) TeT THIT T8 & |
(C) (A) W& &, W (R) Tod ¢ |
(D) (A) T &, W] (R) Wl € |

e © ¥ Ueh Y- § Fererad §
T T 0T BT A 2

(A) o sthvgta

(B) awiiek faa

(C) e e

(D) ST e

‘Hrefeh WIS T shar & u
TOTAT & 1 I8 Toheenl e € 2

(A) ar g

(B) UHEA. 9

(©) TEUEEE

(D) drum U

(B)

Paper-I11



53.

54.

5S.

Select the correct research design

indicated by the  following

characteristics :

(i) Describes the accurate features
of a phenomenon.

(ii)) Intends to find out the
incidence  of relationships
between certain variables.

(i11) Makes certain specific
predictions.

(A) Exploratory Research Design

(B) Descriptive Research Design

(C) Diagnostic Research Design

(D) Informal Experimental Design
According to Dale, a qualitative
approach is not necessary in which
of the following situations ?

(A) When it is possible to study
statistically representative
samples of beneficiaries.

When changes are the result of
complex process.

For the purpose of analysing
relevance due to the value of
judgements involved.

When studying the
organizational issues pertaining
to policy implementation

(B)
©

D)

Probability and Non-probability
sampling techniques are used to
draw a sample of the population
under study. Which include

(1)  Systematic random sampling
(i)  Stratified random sampling
(iii) Cluster sampling

(iv) Purposive sampling

(v)  Quota sampling

Select the correct group of
probability sampling techniques by
using codes given below :

(A) (1), (1), (iii) and (iv)

(B) (), (1) and (iii)

(C) (1), (i1) and (iv)

(D) (), (i1) and (v)
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6.

57.

S8.

59.

‘District Administration’ means
(i)  Collector’s Office

(ii)) Conglomeration of all the
district level administrative
departments

(iii)) A territory marked off for

special administrative purpose

(iv)

The total management of public
affairs within the territorial
unit.

Choose the answer from the codes
given below :

A) (@), (i)

B) (@), (i), (v)
(©) (i), (iii)
(D) (i), (Qv)

Which report of Second
Administrative Reforms Commission
is related to local governance ?

(A) 50 B) 6"

©) 7% (D) 8"

Which Article of the Constitution of
India provides for the District
Planning Committee ?

(A) Article 242 7ZD
(B) Article 243 ZA
(C) Article 243 7ZD
(D) Article 244 ZA

What was one of the most significant
recommendations of L.M. Shinghvi
Committee on the Panchayati Raj
Institutions ?

(A) Involvement of
parties in elections.

political

(B) Non-involvement of political
parties in elections.

(C) Right to Recall

(D) Fixed term for PRIs.
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53.

54.

5S.

ffafaa  fovimarstt g@ 39 @@
STTHY WS S T57 HiTT :

() TRt Hue =t 3k wgtaar & 9o
WA |

FB URAlAl & dr GaEl % e
I T A |

P TeaquT AfTEOTET el € |
TEO ST U
FUHTHS ST T

IR SFTE T
SN, W W

(i)

(ii1)
(A)
(B)
©
D)

A % R = 0 ¥ foeg fefa o
TSR tEshIoT 3Tt Tl € 2

(A) S AT & FiRerbE T
a9 <l 3TeFa T & |

S qREcH, A W o IRoT
ET |

A o % g % ERO
WHEATRAT  fovewoT o TS %
o |

T 3T B GAT |

(B)

©

D)

T AR SWEHAT  Widew  wEd
T T TN SHEE 3T § AT
éﬁéw%fq%mw%wﬁwﬁw%
() AR A HaesT 92

(i) TREE AGrSH U T

(i) TgE AfTse =T

(iv) T AiassT =

(v) I e ==

T 5T T P B ¥ G WiaseT =
TehriIeh o el T T T T ;

(A) (@), (i), (iii) 3R (iv)
B) @), (ii)aﬁT (i11)
© (), (i) 3R (iv)
D) () (ii) #7 (v)
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56.

57.

S8.

59.

“Fret o & ST &

() FAF H FEE

(i) T - JRmare [a9mT 5
T

(iii) foe wemate S2vg & fow fafea
T -0

(iv) TF &5 THE | e FE &
TEqU e

T 32 T Fe W W W A TIT HITC

A) @), (i)

B) (@, (i), (iv)

(C) (), (ii1)

D) (ib), (iv)

fdia weTaies GRS i e A 9

FH W UdeeT WHE SRR §
e € 2

(A) s (B) 6af

(C) 7di (D) &df

RATE HAgH & FT T8 o 5N el
A |l s Hredr forar T & 2
(A) FFT=T 242 7D

(B) 3R 243 ZA

(C) 3T=% 243 ZD

(D) 3R 244 ZA

fifed & @ 9 O TR waitus
AU A St Teud, e |mid g
Tl TS TS & AN H e A 2
(A) TG T SIS ol i TeIRTar
(B) wFWE H IoFfw  sell @
SR
(C) aTIY JIH T TEER
(D) Ul TS SEel & FvEd
EADEIC]
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60.

61.

62.

What is the title of the United
Nations Habitat 2006 Report ?

(A) Urban Governance

(B) Urban Development

(C) Urban Millennium

(D) Urban Habitat

The Urban Poverty Alleviation
Programmes have been clearly

classified into some categories by
which of the following in India ?

(A) Planning Commission

(B) National Development Council

(C) Ministry of Urban
Development and Poverty
Alleviation

(D) National ~Commission  on
Urbanization

Assertion (A): Jawaharlal Nehru
National ~ Urban  Renewal
Mission (JNNURM) is a ten

years programme beginning
from 2005-06

Reason (R) : JNNURM’s main
components are urban
infrastructure, urban

governance and basic services
for the urban poor.

Codes :

(A) Both (A) and (R) are correct
and (R) 1is the correct
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(A) is true but (R) is false.

(A) 1s false but (R) is true.

©
D)
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63.

64.

65.

Assertion (A): Social Welfare
Administration generates
awareness about the challenges
of a society in transition where
negative use of technologies
and practices are impacting on
the well being of women and

children.

Reason (R) : Social Welfare
Administration is the
summation of social welfare
institutions,  policies  and
programmes.

Codes :

(A) Both (A) and (R) are correct
and (R) 1is the correct
explanation of (A).

Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(A) is true but (R) is false.

(A) 1s false but (R) is true.

(B)

©
D)

The most acceptable explanation of
Social Justice is

(A) Economic development

(B) Social development

(C) Uplift of specific sections

(D) Uplift of all the sections of

society

Central Social Welfare Board at
present is functioning under the
administrative control of —

(A) Ministry of Social Justice and
Empowerment

(B) Ministry of Human Resource
Development

(C) Ministry of Women and Child
Development

(D) Ministry of Tribal Affairs
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60.

61.

62.

Tgea T2 ¥feeT 2006 AiadsT &1 IS
HIE?

(A) TRF TET
(B) TR faw
(C) TR feit=w
(D) TRE AEH

IRA § TR TR I9oH HREFA Sl FS

Aot & 7 § O forgeh gRT St fohar

TE?

(A) FSHT =

(B) U oo uReg

(C) & fob wa TWEr SuvEE
AT

(D) R TRISHOT ST

AMWHYT (A) : TARAA & T
I TAHRReT e (JNNURM)
g 2005-06 T URET AT T UH
TH U A ¢ |

% (R) : TR ST, TR
PRI 3R TR Wel & forw
A HA 95 FA — INNURM
&P TFHC |

(A) 3R (R) ST T&l € 3T (A)
T (R) T&l TEHTE |

(A) 3T (R) ST W&l € 3T (A)
T (R) el TR0 & & |

(A) W&l &, T (R) eI & |

(A)

(B)

©

(D) (A) eI €, W] (R) TEl & |
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63.

64.

65.

BT (A) : QST HodTOT TR
T ROl FUT W AfEerre we
Tl F HANT W ASANRA P
FHRTHSE TN U TR & a) H
ST Rechdl ScH~ %{dl% |

& (R) : TTATSTeR SHoToT FRTH,
FHRIFHAT ol TEhighd €0 ¢ |

FT:

(A)

(A) 3R (R) T T&l € 3T (A)
T (R) T&l TEHTE |

(A) 3T (R) ST W&l € 3T (A)
T (R) TEl T2 T&l ¢ |

(A) W&l &, W] (R) oI & |

(B)

©
(D) (A) 7oA &, W] (R) Wl € |
JrHTTSTeR = < etk e SR &
(A) 3T foshre

(B) IS ferehrg

(C) fafere =t &1 3o

(D) TS & T S T S

THE H BT GAS HedoT arg, =
W Tk TR =0T § SRR € 2

(A) THISTE = 3R BN HATeTT
(B) MY HQTEH e waer

(C) wieet ud et ferehry wemer

(D) SIS AHAT 1 HATeTT
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66.

67.

68.

69.

Assertion (A): Bio-ethics and
Social Justice are interrelated.

Reason (R) : Affordable access to
health care especially for low
income households and
families refers to bio-ethics.

Codes :

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(©) (A)istrue but (R) is false.

(D) (A)is false but (R) is true.

‘Association of Voluntary Agencies
for Rural Development’” (AVARD)
was established in the year :

(A) 1952 (B) 1958

(C) 1962 (D) 1968

Which of the following is not the
policy implementation model as
suggested by R. Elmore ?

(A) Systems Management

(B) Conflict and Bargaining

(C) Organizational Development
(D) Policy Action Model

According to Poister, which of the
following is the basis of Policy
Evaluation ?

(1)  Effectiveness

(i) Adequacy

(iii)) Appropriateness

Select the correct answer from the
codes given below :

Codes :

(A) (@), (i1), (iii)

B) (@), (i1)

©) (@, (i)

(D) (1), (iid)

70.

71.

72.

73.

74.

75.
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Which of the following is not the
approach to policy evaluation ?

(A) Evaluability Assessment

(B) Effectiveness Evaluation

(C) Evaluation Synthesis
Approach

(D) Experimental method

Which of the following States does
not have Panchayati Raj Institutions ?
(A) Assam

(B) Arunachal Pradesh

(C) Tripura

(D) Nagaland

In which Article of the Constitution
of India, the provision of ‘workers’
participation in management of
undertakings is given ?

(A) Article42 (B) Article42 A
(C) Article43 (D) Article43 A

Which  among the following
companies was not a ‘Maharatna’
company as on March, 2012 ?

(A) Coal India Limited

(B) Indian Oil Corporation
Limited

(C) Bharat Petroleum Corporation
Limited

(D) Oil and Natural Gas

Corporation Limited

When did the Government of India
first time accord ‘Maharatna Status’
to the Public Sector Undertakings ?
(A) 1997 (B) 2001

(© 2004 (D) 2009

Removal of poverty was stated as the
dominant objective in which of the
following Five Year Plan in India ?
(A) Third Five Year Plan

(B) Fourth Five Year Plan

(C) Fifth Five Year Plan

(D) Sixth Five Year Plan
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66.

67.

68.

69.

AWHAT (A) @ ST ™
HEITSTeR = S & |

& (R) : U W oo &
Tl Ud UNART % W g
@G H g H gEE -
iRl § T W@ |

. T4H

{?\) (A) 3T (R) ST W&l € 3T (A)
F (R) iqiéi LT & |

(A) 3R (R) T T € &R (A)
T (R) el TEEIHI0T Tél &

(A) T& &, W (R) oA € |

(A) T &, T (R) W&l & |

(B)

©
D)

THIRITSA 3 Setved! ToreT B &
TIAT (3ETE) iR H F THg a9
T foa T 2
(A) 1952
(©) 1962

1958
1968

(B)
(D)

IR, VTR o 5T ST 7T Geirer o 3FaR
=1 # ¥ B W A FEreaE ded T@l
€72
A)
(B)
©)
(D)

T T
5% 31 QTR
TS [Ihrd
i = e

e % SFER i Jodid & 3R
BT ATE 2

() eI

(i) AT

(iii) FHFaa

T T M FT T A IW H T
FHIT :

E T
(A)
(B)
©)
(D)

(®), (i), (iii)
@@, (i)

(1), (iii)

(ii), (iid)

70.

71.

72.

73.

74.

75.
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frefafad & ¥ %9 91 T Aifd gedieT
I SUMTH T8 & 2

(A) RO FoieR

(B)  WMTECIdT Jodieh

(C) TodTeh GIeIquT SUNTH

(D) VAN Ugid

= 4 9 foom T 4 duRdr O g
TIE?

(A)  IE™

(B)  3TE0MEA HeTT

(C) Frgu

(D) FTTeiTE

WAl S T HHIRAT (AT o WIERT
N T TR H TTH % o 3T
T fer T g

(A) IT=T42 (B) =R 42A
(C) 3=543 (D) 3H=S43A

e, 2012 ° F= FE § 9 e 9@
TR AT el & 2

(A) T e Tt

(B) fea 3iiaer Uy fa.

(C) ¥RA Uiy HRURYH T,

(D) 3TeT UUE AR T HRIRYH fot,

IR TWHR 5 U0 IR e b ST
TS HI “HERe o fear ot 2

(A) 1997 (B) 2001

(©) 2004 (D) 2009

7 ¥ ¥ arg ¥ g dgeuE aner 9
et FaRTT @ TEe 32 E®W H
BEIEGREDIRIDIN

(A) I TEEETE ST

(B) IqY U=ENId IS

(C) U=m gadE It

(D) W=H TggN ASHT
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